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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
u@g =1 / PART - |
GOy : (i) SmaF g allanss@rsEL el wallssayd. 5x1=5
(i)  Ger@ésuu (Harer Brar@ wrmn elmLsalled Blsaw aghyamLw alloLmws
Caih0s(0s8165 GO HLear allamLwWlmeann Csisg er(psaibd.
Note (i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.
1. em wuulLssslar Gerambd 6° bppd LEMmSHING allssrar gellellvsa erar 1.5, e

LEms BInssdlT osar auflurs Qeapred isa s

(=) 3° (<},) 300 g) 00 () 150

The angle of a prism is 60and its refractive index for green light is 1.5. If a green ray passes through
it, the deviation will be

(a) 30 (b) 300 (c) 0o (d) 150

ULl Lssslar B eallsspmpwrearg Spw doswrpn Bloawle L@SDg. Wil L &gl
Pea LSS (osmag LOSlaD Lssw) allws Caramd aaraTears BHEELD?

(=) 0° (=y,) 45° (@) 30° (rr)  90°

A ray of light is incident on a prism at the minimum deviation position. The angle of refraction at
the first face (i.e., incident face) of the prism is

(@) Qo (b) 450 (c) 300 (d) 909
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gaflallwse erant 1.5 QaraL sareaumigll UL &b @adlaeT smné GO ean o eararg.
(QemEsgs LOSSIT DlaowsE mSD) @m Lssssphe LMEEL Gurg stHmE GO
5 Qa.8. o édlad wpGprm Lssb audlures umé@n Curg 3 Ca.8. o wsslad 2 erarg
cTaled, sauTanTTqLl UL L 8&55|65 Siq 06T eremen ?

(=) 12 Q&.i8. (=) 8 Q&b (@) 16 Qs.b. () 10 Qa.ib.

An air bubble in glass slab of refractive index 1.5 (near normal incidence) is 5 cm deep when
viewed from one surface and 3 cm deep when viewed from the opposite face. The thickness of
the slab is:

(@) 12 cm (b) 8cm (c) 16 cm (d) 10 cm
Sereupeuareupmier allenrSeaar Wlaaeugnane sflurer smyed erg?
(=) eafl erdl@pmafly (=) W <5 eadlepmafliy
@) ol allwsa (F)  ser alleveray

Stars twinkle due to :

(@) reflection (b) total internal reflection
(c) refraction (d) polarization

smpdled gallwlar SlansCeaisd LHOL S@epad WeopGu Va bpmgwd s QGCs Curarm
gan et fed Vi opmid A eralled, senrantilar gefleflovse eremr :

A Y Vala n L
(o) 7 (@) 3 @ 5 m
If the velocity and wavelength of light in air is Va and As and that in water is Vy and Aw , then the

refractive index of water is,

AW VW VaAa Va
@ % ® © @ 5
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Note

6.

10.

@ﬂm;u_l@ﬂésaseqﬁs. 4x2=8
. Answer any four questions. Question No. 11 is compulsory.

ST DEGESSITEET LHMID @résSlise aapre) eTere ?

What are paraxial rays and marginal rays?

s LSS UL L&D gadlar fgw Sloe wrhps Carard 370 erefled, wLpLILIL L &L
Qurmeller gafl allvse craamans samssl(Hs.

The angle of minimum deviation for the equilateral prism is 379. Find the refractive index of the
material of the prism.

gallallovse eranr 1.5 QararL seareaumgwlar serallmereys Carammismers & s,
Find the polarising angle for glass of refractive index 1.5

g 2 guid wpmd wepallear Gurg earal g Sy Hinwrs Csfldng ?

What is the reason for reddish appearance of sky during sunset and sunrise?
Qaenéla mam eraimred ereran ?

What is power of a lens?
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Soflaflent. samrammgwned Qewiwiul L Ul L ssdlar adlCw Qeadeid Sealiy, Lsms
pgLd easn gaflseiler gaflellvsa eramaar papCu 1.613, 1.620 wHmid 1.632 oy @Lb.
Guwdliysmens Qarar( sUlefleni ULl Lasslar Biniflos sheas srars.

Find the dispersive power of flint glass if the refractive indices of flint glass for red, green and
violet light are 1.613, 1.620 and 1.632 respectively.
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Note

12.

13.

14.

15.

16.

17.

@ﬂml_u@ﬂésaseqﬁa. 4x3=12
: Answer any four questions. Question No. 17 is compulsory.

aaurd Qeredliugpanen smarsams ellarsEs.

Explain the reason for the glittering of diamond.

gallllue urens erapred eratan? aflullue Lramgssrear soaUM L Quns.

What is optical path? Obtain the equation for optical path.

gafl arhdledmbg eallellovsa eranr 1.5 wHmLd 50 Ge.S. siqwear QsramrL &ewnt g uila) e
Qe &lng). seurarmguile) eaflilar Cousld eraian ? LHMID ST a@igws SLHS Qs gafl
ThEgs CareTernd Crrw erarer ?

Light travels from air into a glass slab of thickness 50 cm and refractive index 1.5 What is the
speed of light in the glass slab and what is the time taken by the light to travel through the glass
slab.

W 46 eslArmetliy eraipred eraian ? P 8 erslCnmaflly penl QupeusDHSTes

Blup SeneTenw & m)s.

What is total internal reflection? Give the condition for the total internal reflection takes place.
Garears opipuiled f poid R-6@ Qe Cuwrer Qsriillemer aumall

Derive the relation between f and R for a spherical mirror.

UGS PULLLEL @adlar psad pessle owg wese Lrilals 08w @ssL
LECsrampleaulle geflsasldrmean efwhg, WUl Lssslar ablurs Cearn ST reug
wassloas swalsCsadng ealld, wuulLsn gpuBssiu Sos  wrHDECsTeamd
craleuerey? G, @uul;l_aalj@urr@aﬂs&f @aﬂ@ﬂ@)asei) CTEWT NG &6uTeh &1(D1S.

Light ray falls at normal incidence on the first face and emerges
gracing the second face for an equilateral prism. (a) What is the angle
of deviation produced? (b) What is the refractive index of the material
of the prism?

[ Sl / Turn Over

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

125056

4

UGSl - IV / PART - IV

GO : Smarsg lamss@rsEn ol wallsseb.
: Answer all the questions.

Note

18.

19.

20.
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3x5=15

Qaars 2 (HeursdGLeilar soaTum el aumallss oidldlmbe Cevers swaum e

QETETTS.

DO g

Olg & FLOGTUTLIq 60 aumallsg, Ussam () o mUuOumEsssherar GaraeimuiL

Cums.

Obtain Lens Maker’s Formula, from that derive Lens equation.
OR

Derive the mirror equation and the equation for lateral magnification.

gallllar Caussmss sarLplw SHUledly weapew alleuflssaybd.

DO g|
wUulLsD  gadlar  Slesommns  Ceremgslherer  sweTuT el
oBlmbg  wuulLsen  Qewwliul Geter  Qunpetler  gaflallose

sraTugnETe Caramaelmw aihalls&aLb.

Describe the Fizeau's method to determine the speed of light.
OR

@J@@ﬂggj,

©T G00T 6 GUOT &

Derive the equation for angle of deviation produced by a prism and thus obtain the

equation for refractive index of material of the prism.

poLNens erarpred erarer ? o s eadlar HoLliloss Snassrer
Caremauenuis GlLmis.

DO g

eyl L omb (Sewg) evCba sremrssihsner soeaumn a1 QLS.

What is dispersion? Obtain the equation for dispersive power of a medium.
OR

Obtain the equation for radius of illumination (or) Snell’s window.
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